A number is eighteen less than 7 times itself.  What is the number?��(A)  1	(B)  2.5	(C)  3	(D)  4.5	(E)  NOTA


The sum of two numbers is 27, while their difference is 19.  What is the larger of the two numbers?��(A)  17	(B)  23	(C)  21	(D)  20	(E)  NOTA


What is the slope of the line � EMBED Equation.2  ���?��(A) � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


Factor completely over the real numbers:  � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ����(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


What are the roots of the equation � EMBED Equation.2  ���?��(A)  3, -1	(B)  -2, 7	(C)  -1, 4	(D)  -2, 3	(E)  NOTA


For what values of t is � EMBED Equation.2  ���?��(A) � EMBED Equation.2  ���		(B)  � EMBED Equation.2  ����(C)  � EMBED Equation.2  ���		(D)  � EMBED Equation.2  ���	(E)  NOTA


On Jan’s ranch, they clone both sheep and cattle.  Unfortunately, the sheep end up with two heads, and the cattle with 6 legs.  A field contains both sheep and cattle.  If there are a total of 38 heads and 100 legs, how many sheep are in the field?��(A)  10	(B)  12	(C)  14	(D)  16	(E)  NOTA


Lori’s dragon’s neck is 1/4 its total length, while its tail is 1/3 its total length.  If the tail is 50 feet longer than the neck, how long is the dragon?��(A)  550	(B)  650	(C)  600	(D)  720	(E)  NOTA


James has 27 coins, each either a quarter or a dime, which add up to $4.35.  How many quarters does he have?��(A)  9	(B)  5	(C)  7	(D)  11	(E)  NOTA


If Robin had scored 3 more points in the game, she would have scored half of her team’s points.  It wouldn’t have mattered that much, as the other team scored 15 points more than Robin’s, anyway.  If the total number of points scored was 45, how many points did Robin score?��(A)  4	(B)  5	(C)  6	(D)  7	(E)  NOTA


127 consecutive integers add up to 27178.  What is the third largest integer in this set?��(A)  153	(B)  152	(C)  275	(D)  278	(E)  NOTA


Three consecutive odd integers exist such that the lowest is � EMBED Equation.2  ��� the average of the other two.  What is the middle of these three numbers?��(A)  11	(B)  13	(C)  15	(D)  17	(E)  NOTA


A swimming pool is 14 meters by 32 meters.  If there is a tiled region three meters wide surrounding the pool, what is the area, in square meters, of the tiled region?��(A)  348	(B)  286	(C)  324	(D)  312	(E)  NOTA


A calculator is on sale for 40% off, and costs $14.40.  What was the original price of the calculator?��(A)  $28.40	(B)  $24.00	(C)  $36.00	(D)  $18.60	(E)  NOTA


Given � EMBED Equation.2  ���, what is � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


What is the slope of the line parallel to � EMBED Equation.2  ��� and going through the point (3,5)?��(A)  -4	(B)  � EMBED Equation.2  ���	(C)  4	(D)  � EMBED Equation.2  ���	(E)  NOTA


If � EMBED Equation.2  ���, then � EMBED Equation.2  �����(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


Determine the equation of the line through the points (4,3) and (7,-3).��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


What is the domain of � EMBED Equation.2  ���?��(A)  � EMBED Equation.2  ���	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


� EMBED Equation.2  ��� and � EMBED Equation.2  ���.  Find � EMBED Equation.2  �����(A)  312	(B)  247	(C)  -118	(D)  -367	(E)  NOTA


If half a chicken lays half an egg in half a day, how many days would it take 2 chickens to lay 4 eggs?��(A)  2	(B)  1	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


A positive number is eight times one more than its reciprocal.  What is the number?��(A) � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


� EMBED Equation.2  ���.  Solve for d in terms of the other variables.��(A)  � EMBED Equation.2  ���	(B) � EMBED Equation.2  ���	(C) � EMBED Equation.2  ���	(D) � EMBED Equation.2  ���	(E)  NOTA


If � EMBED Equation.2  ��� and � EMBED Equation.2  ���, what is the value of k?��(A)  7	(B)  -10	(C)  5	(D)  1	(E)  NOTA


If � EMBED Equation.2  ��� and � EMBED Equation.2  ���, find t.��(A) 10	(B)  -7	(C)  -5	(D)  5	(E)  NOTA


If � EMBED Equation.2  ���, what is � EMBED Equation.2  ���?��(A)  7	(B)  11	(C)  22	(D)  29	(E)  NOTA


Find the roots of � EMBED Equation.2  ���.��(A)  {3,-2}	(B)  {4,-2}	(C)  {3, 7}	(D)  {5,-4}	(E)  NOTA


A large glass contains 32 ounces of chocolate milk which is 20 percent chocolate syrup...way too strong for Tom’s taste.  How many ounces of milk would Tom need to add to make it 12 percent chocolate syrup?��(A)  20	(B)  � EMBED Equation.2  ���	(C)  18	(D) � EMBED Equation.2  ���	(E)  NOTA


Mike can mow a lawn in 2 hours, while his brother JJ can mow it in 3 hours.  Working together, how long would it take them to mow the lawn?��(A)  1	(B)  � EMBED Equation.2  ���	(C)  � EMBED Equation.2  ���	(D)  � EMBED Equation.2  ���	(E)  NOTA


If Adam rides his bike to work at 30 kmph and rides home over the same route at 10 kmph, so as to savor the pleasure of not working, what is the average speed, expressed in kmph, at which he commutes?��(A)  15	(B) � EMBED Equation.2  ���	(C)  20	(D) � EMBED Equation.2  ���	(E)  NOTA
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